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To fit dress size:

6-8-10 12-14-16 US

10-12-14 16-18-20 UK

38-40-42 44-46-48 EU

Actual size: approx 20 cm (8 in) ease
allowance

116 144 cm
45% 56% in
Finished length:

66 66 cm
26 26 in
Yarn

2 colour tunic
Photographed knitted in Fleuris
(1 size photographed)

A. sh. 14 Kiss

8 10 x 50g balls
B. sh. 18 Bouquet

4 6 x 50g balls

One colour tunic

Photographed knitted in Fleuris,

sh. 19 Hedgerow (1¢ size photographed)
12 16 x 50g balls

Needles
Pair of 5.5 mm (US 9) knitting needles
Pair of 6 mm (US 10) knitting needles

Tension/gauge

13 sts x 20 rows to 10 cm (4 in) square
measured over edging patt using 6 mm
(US 10) knitting needles.

16 sts x 20 rows to 10 cm (4 in) square
measured over st st using 6 mm (US 10)
knitting needles.

Note: This garment is knitted side to side
with the number of patt reps given for
the 1+ size first with the 279 size in (bold).

Special abbreviation: SSK - slip 2 sts
knitwise one at a time from the LH
needle to the RH needle, insert LH
needle tip through both front loops and
knit together. :

2 colour tunic

Back and front (work both the same)
Using 5.5 mm (US 9) needles and yarn
A cast on 70 sts, change to yarn B and
cast on 28 sts. (98 sts)

Edging row 1: K28 sts yarn B, twist yarns
around each other on WS to stop a
hole forming, K70 sts yarn A.

Edging row 2: K70 sts yarn A, twist yarns
around each other on WS to stop a
hole forming, K28 sts yarn B.

Edging row 3 (picot): Cast on 2 sts, cast
off 2 sts (1 st on RH needle), K27 sts yarn
B, twist yarns around each other on WS
to stop a hole forming, K70 sts yarn A.
Edging row 4: K70 sts yarn A, twist yarns
around each other on WS to stop a
hole forming, K28 sts yarn B.

Change to 6 mm (US 10) needles and
work 28 rows in heart lace edge patt in
yarn B and main body in yarn A using
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Making up
Press/block as on information page.
Join front and back top edging to
make shoulder seams, leaving 28 cm
(11 in) open for neck.
Measure 28 cm down from shoulder
seam, join side seams using mattress
stitch or back stitch to start of heart
lace edging.

66 cm (26in)

53.5(72)cm
(23 (28%in)
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the intarsia method of twisting yarns on
WS to prevent a hole forming, setting sts
as folls:

Patt row 1 (RS): K9, (yo, SSK) twice, K3,
(K2tog, yo) twice, K8 yarn B, K70 yarn A.
Patt row 2 and every WS row: Ké, P64
yarn A, K2, P22, K4 yarn B.

Patt row 3 (picot): Cast on 2 sts, cast off
2 sts (1 st on RH needle), K¢, (K2tog, yo)
twice, K4, (K2tog, yo) twice, K1, yo, SSK,
Ké yarn B, K70 yarn A.

Patt row 5: Ké, (K2tog, yo) twice, K4,
(K2tog, yo) twice, K1, (yo, SSK) twice, K5
yarn B, K70 yarn A.

Patt row 7 (picot): Cast on 2 sts, cast off
2 sts (1 st on RH needle), K4, (K2tog, yo)
twice, K4, (K2tog, yo) twice, K3,

(yo. SSK) twice, K4 yarn B, K70 yarn A.
Patt row 9: K7, (yo, SSK) twice, K1,
(K2tog, yo) twice, K5, (yo, SSK) twice, K3
yarn B, K70 yarn A.

Patt row 11 (picot): Cast on 2 sts, cast
off 2sts (1 st on RH needle), K7, yo, SSK,
yo, sl1, K2tog, psso, yo, K2tog, yo, K4,
(K2tog, yo) twice, K5 yarn B, K70 yarn A.
Patt row 13: K9, yo, SSK, yo, sl1, K2tog,
psso, yo, K4, (K2tog, yo) twice,

Ké yarn B, K70 yarn A.

Patt row 15 (picot): Cast on 2 sts, cast
off 2sts (1 st on RH needle), K9, (yo, SSK)
twice, K3, (K2tog, yo) twice, K7 yarn B,
K70 yarn A.

Patt row 17: K8, K2tog, yo, K1, (yo, SSK)
twice, K4, (yo, SSK) twice, K5 yarn B,
K70 yarn A.

Patt row 19 (picot): Cast on 2 sts, cast
off 2sts (1 st on RH needle), Ké, (K2tog,
yo) twice, K1, (yo, SSK) twice, K4, (yo,
SSK) twice, K4 yarn B, K70 yarn A.

Patt row 21: K4, (K2tog, yo) twice, K3,
(yo, SSK) twice, K4, (yo, SSK) twice, K3
yarn B, K70 yarn A.

Patt row 23 (picot): Cast on 2 sts, cast
off 2sts (1 st on RH needle), K4, (K2tog,
yo) twice, K5, (yo, SSK) twice, K1,
(K2tog, yo) twice, K5 yarn B, K70 yarn A.
Patt row 25: K7, (yo, SSK) twice, K4, yo,
SSK, yo, K3tog, yo, K2tog, yo, Ké yarn B,
K70 yarn A.

Patt row 27 (picot): Cast on 2 sts, cast
off 2sts (1 st on RH needle), K7, (yo, SSK)
twice, K4, yo, K3tog, yo, K2tog, yo, K7
yarn B, K70 yarn A.

Patt row 28: K¢, P64 yarn A, K2, P22, K4
yarn B.

These 28 rows form the lace edge patt rep.
Rep these 28 rows 3(4) times more,
ending with RS facing for next row.
Change to 5.5 mm (US 9) needles and
work edging rows as folls:

Edging row 1: K28 sts yarn B, K70 sts
yarn A.

Edging row 2: K70 sts yarn A, K28 sts
yarn B.

Edging row 3 (picot): Cast on 2 sts, cast
off 2 sts (1 st on RH needle), K27 sts yarn
B, K70 sts yarn A.

Edging row 4: K70 sts yarn A, K28 sts
yarn B.

Cast off 28 sts using yarn B, cast off 70
sts using yarn A.



